


Math 1552

Section 8.4:
Trigonometric Substitution
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Section 8.4: 5, 11, 13, 17, 19, 29, 35 (extra practice: 39)



Math 1552

Section 8.5:

The Method of Partial
Fractions



o P(oc) me

Vot 100 |
et
e T Er| 24
xX*rou—6 C’-*b) @ 23-SA

\: Pachr N derom—estr

4526 = (2 +6>Ge-1D

Pk heam an  CRUOMASY ok s e Qv
@) obitaty Qatend oy MmO
Set ey b furcron Joo~ o HoAe)ede-

et ¥ A B

—_ = €

Kt Kb Z-|

Sepl: Sae S AEE

Ao . Aro | O
74_0,+ P (54G) Ge—N #Q(x-)

AGN + BOexb) _ﬁ A+Y
A+ Sx - I L A
ke Wy SoP™ny we iy equal -

AG-O+ (+6) = X ey

= ALK £ BE8 = ¥xyg
6[’—@\\2/0& e ' /ﬁ%%, i
CA*?Q?C v (AU = A+ Y '

73% e = 1 Ot é\i%-/
— B £ 657 =51, h="1%

«y
\y‘
~






St e A
Ex2 - t/é‘i? TRV X TNV PPN &?NQ
_j‘;k’ﬂ*ﬂdt = 83 e * b dox obEe (&5
voee vt € uan Seromiests::

KA@V“ od x| >

a-

Sern .
346 =t

S Fo PBC
e A e

-

<t € tr<|

g{-_ef,&l,_ Me b, ouk  § Compe Numeest U

i\—-- | oBesC & _ @;"A * @d (36‘;64( )

L g € ‘(7(.‘5”‘“\ Bt

= Mt v k= 3t db <




B __A_a BuxC  DmrE
_z 3 x o 0 o
Ot N

(eQeodt™ ’\’UCLL\

oo B B, m& eyl
@c( _ﬁ@' z 2% Wftf)’

Vo oy, w2 L Dt %)

Wl ATON s A = Z

W\ = A (7{‘&\\1 « () (%) & Oe) x

\

A(%“-%h{}ﬂ” \5 *@MO(;&%\—& Do *+~Cx

= ol e DA A+ BEE 4 O B2« Dl

\

(A@E@’t“ ¢ (F +(2a+BDZ + LHE)14 A

[ — - (G —

© © 1 9 ~
C=<0

A Dk D‘i = @DEO+ x>y > D=z
(x<€*0 — E=p

A:/L A
_ A . B _Pbusi A
P <"
AR
— % —\\Jw&. (11*\\21 EENAYS

= L - ‘_(/_ C
,/)‘“\7(,\ + ‘\iﬂn\i 51\ o <







Math 1552

Section 4.5
L'Hopital’s Rule
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Section 4.5: 25, 42, 51, 60 (extra practice: 13, 15, 42, 57, 63)
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Section 8.5: 11, 13, 23, 33, 39, 41 (extra practice: 9, 17, 35)



Math 1552

Section 8.8
Improper Integrals
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Section 8.4: 5, 11, 13, 17, 19, 29, 35 (extra practice: 39)



Section 8.8: 1, 4, 11, 21, 71 (extra practice: 7, 13, 15, 45)
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Sections 10.1:
Sequences
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Section 10.1: 3, 17, 35, 41, 57, 129 (extra practice: 13, 19, 39, 93, 127, 133)



Section 10.1: 3, 17, 35, 41, 57, 129 (extra practice: 13, 19, 39, 93, 127, 133)



